Could someone please help me with the following problems: Thank you!!!
1. Use set building notation to describe the complete solution

31-(2x+2)≤4(x+1)+x

{x|x?,?}

2. Solve the elimination method

0.3x-0.2y=4

0.4x+0.5y=1

A. The solution is__

B. There are infinitely many solutions

C. There is no solution

3. -29≤4x+3 and 4x+3<15 the solution is {x|_≤x<_}

4. Solve the system of equalities by graphing then classify the system.

3x-y=24

3x+4y=9

What is the solution

A. The solution is_

B. There are infinitely many solutions

C. There is no solution

5. Same as #4
3x-9y=63

2x-6y=4

6. Graph the inequality on a plane

4y-5x>20

